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The value of the product

2 x 4x 6 x 8x 10 x 12 x 14 x 16 x 18 x 20

ends with 2 consecutive zeros.

How many consecutive zeros with the value of each of the following products

end with ?

(@) 2 x 4 x 6 x 8x ...x 100,

(b) 2x 4x 6x 8x ...x 1000 .
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(a) 2x4x6x8x---x100 ;

(b)) 2x4x6x8x---x1000 .
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2x4x6x8x--
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-x100 RARY B 45 69Nk B 40 2 69440
-x100=(2x1)x(2x2)x(2x3)x(2x4)x---x(2x50);

-x100 AP F 5 494405 1x2x3x4x--- x50 A+ FH 45 942 A0F) ;

50+5=10, 10+5=2;
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500+5=100,

Ix2x3x4x---
2x4x6x8x---
2x4x6x8x---

x50 AT A 10+2=12 M FH 45 ;

%100 AT A 12 ANFE %5 ;

x100 FAG) REA 12 Mk 0 R,

x1000 AR F B 5 69/ E b B 202 694400

x1000 = (2x1)x (2% 2)x(2x3) x(2x 4)x-+-x(2x500) ;

%1000 FARF B #4569/ 45 1x 2x3x 4x---x 500 A F F 45 49 AN 3ARF) ;
100+5=20, 20+5=4;

x500 AP A 100+ 20+ 4 =124/~ H 4.5

x1000 AR+ A 124 N E %5 ;

x1000 kARG R EA 124 ik 69 K,
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2. There are several red balls and white balls on the table.

If one red ball and one white ball are removed together each time until no red
balls are left on the table, then the number of remaining white balls is 50.
If one red ball and three white balls are removed together each time until no white

balls are left on the table, then the number of remaining red balls is also 50.

Find the total number of red balls and white ball at first.




ERF EAE AR K.

WHRAFREH —ANOERRA— AR, RN BRI,
WIRARR IR E H — AR =N 3K, A Bk,
W RAILLERAT Bk — S 22

(o415 ]
W REFRE B AR —A G, TR LR,
W RFRE B A=A G, FHEA @R,
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B 27 100 x1+ 50 =150 & (100 —50)x 3 =150 4;

AL A G 3 — A 100 + 150 = 250 /.

!

T 50 N EER,
T 50 PMAER

T 50 4~ & 3K
LT 50 /N 4ak, BP@ ) 50x3=150 4 .




Each side of the figure is 10 cm long. A small circular disc of radius 1 cm is

placed at one corner as shown. If the disc rolls along the sides of the figure and

returns to the starting position, find the distance travelled by the centre of the

disc .
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4. Draw two straight lines to divide the figure into four portions whose

areasareintheratio 1 : 2 : 3 : 4.
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5.  The figure shows a shaded triangle attached to the square of side 2 cm. When
the shaded triangle is unfolded, there is a smaller shaded triangle attached to it.
When the smaller shaded triangle is unfolded, there is an even smaller triangle
shaded triangle attached to it as shown. If there are infinitely many shaded

triangle unfolded in this manner, find the total area of the figure unfolded.
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6. In the figure on the right, the area of the AABC is 5 cm?,

AE=ED and BD =2DC. Find the total area of the shaded part.
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HA AE=ED; FTVAS, ee =Sipoe> Saner = Saper

PITVA'S jope +Saner = Sanse + Saner = Saeoe +Saver > PP Sygs = Sansr = Sasor 5
HABD=2DC, B?BD=DC=2:1; FF¥AS, 0 :Spcor =2:1;

PTVA Sy, tSaner - Sasor - Sacor =2:2:2:1;

BA Sy = S x%sz%: 2% 5 K.
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